
5 Circle the answer.

Solve using
order of operations!

53 ÷ (14 – 9) – 18 = 

Solve using
order of operations!

Name ____________________________    Class __________________  Date ____________

1 Circle the answer.

3 Circle the answer.

8 Solve the equation.

If n = 4, then n3 + n = _____.

10  A truck can carry twice as many  

 potatoes as cabbages.  If there are  

 a thousand vegetables on the truck,  

 how could the number of potatoes be 

 calculated?

 Underline the correct equation.

4 Solve the equation.  Show your steps.
9 Solve the equation.

If n = 7, then n2 – 9 + n = _____

2 Circle the answer.

7 Which algebraic expression represents 

the following?  Check it.

11 more than a number times 8

6 What is the first step in solving this 

problem?  Check the box.

6 x (56 ÷ 8) = 

1,000 x (n + 2)

2n – n = 1,000

2n + n = 1,000

36 ÷ 32 + 8 = 

632 – (232 + 3) = 

8n + 11 11n + 8

8 + 11 8n x 11

53 ÷ (30 – 5) =

48

44 -44

6.5

16

42

100 606

15

31

336 56

124 ÷ 4 – 15 =

23 2 75 7

multiply 5 x 5

subtract 5 from 30

divide by 30
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Solve using
order of operations!

Name ____________________________    Class __________________  Date ____________

1 Circle the answer.

3 Circle the answer.

8 Solve the equation.

If n = 4, then n3 + n = _____.

10  A truck can carry twice as many  

 potatoes as cabbages.  If there are  

 a thousand vegetables on the truck,  

 how could the number of potatoes be 

 calculated?

 Underline the correct equation.

4 Solve the equation.  Show your steps.
9 Solve the equation.

If n = 7, then n2 – 9 + n = _____

2 Circle the answer.

7 Which algebraic expression represents 

the following?  Check it.

11 more than a number times 8

6 What is the first step in solving this 

problem?  Check the box.

Order of Operations - Answer Key

6 x (56 ÷ 8) = 

1,000 x (n + 2)

2n – n = 1,000

2n + n = 1,000

36 ÷ 32 + 8 = 

36 ÷ 9 + 8 = 

4 + 8 = 12

632 – (232 + 3) = 

8n + 11 11n + 8

8 + 11 8n x 11

53 ÷ (30 – 5) =

48

44 -44

6.5

16

42

100 606

15

31

336 56

124 ÷ 4 – 15 =

23 2 75 7

multiply 5 x 5

subtract 5 from 30

divide by 30





68

47
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